Price Setters or Price Searchers

SELLERS WHO CONTROL THEIR PRICE


Because of - 1. Few sellers, or 2. Differentiated products, or 

    3. Poor consumers information about alternatives.

Such sellers consider the ADDITION REVENUE FROM ADDITIONAL OUPTUT

MARGINAL REVENUE IS BELOW PRICE

MARGINAL REVENUE IS SET EQUAL TO MARGINAL COST

SUCH SELLERS CAN INCREASE PROFITS BY COMPLEX PRICING

PRICE DISCRIMINATION - CHARGING MORE ELASTIC BUYERS LOWER PRICES

QUANTITY DISCRIMINATION – CHARGING A LOWER AVERAGE PRICE FOR A LARGER NUMBER OF PACKAGED UNITS

BUNDLING – COMBINING DIFFERENT ITEMS WHEN CONSUMERS’ VALUES ARE DIFFERENT FOR DIFFERENT ITEMS 

PARAMETER OF THE INDIVIDUAL SELLER’S DEMAND - PRICES OF SUBSTITUTES

MAIN SUBSTITUTES - GOODS OF OTHER SELLERS IN THE INDUSTRY 

THE INDIVIDUAL SELLER’S DEMAND ASSUMES COMPETITORS’ PRICES ARE FIXED

WHAT HAPPENS IF ALL COMPETITORS IN AN INDUSTRY CHANGE PRICE TOGETHER?

THE DEMAND FACING EACH SELLER BECOMES “LESS ELASTIC”

THE SELLER’S “BEST” PRICE GOES UP

THE SELLER MAKES A LOT MORE MONEY

THE SOCIAL GAINS FROM TRADE REDUCED

COLLUSION - NAME GIVEN TO SELLERS’ COOPERATING IN PRICING RATHER THAN COMPETING

THERE IS ALWAYS AN INCENTIVE FOR SELLERS TO COOPERATE  BUT IF OTHERS COOPERATE AN INDIVIDUAL SELLER CAN DO EVEN BETTER BY UNDERCUTTING THE HIGH COOPERATIVE PRICE

ILLUSTRATION OF PROBLEM FACING SELLERS TRYING TO COOPERATE


PROFIT TO AN INDIVIDUAL SELLER






Me (you)
	
	I COOPERATE
	I UNDERCUT THE COOPERATING PRICE

	YOU COOPERATE
	          100 (100)
	         150 (20)

	
	
	

	
	
	

	YOU UNDERCUT THE COOPERATING PRICE
	          150   (20)
	           50 (50)


SUCCESS IN COLLUDING OR COOPERATING OCCURS WHEN UPPER LEFT PROFIT IS LARGE, THE UPPER RIGHT IS NOT TOO MUCH BIGGER 

IT IS MORE LIKELY THAT COOPERATION OCCURS WHEN 

1.  RECOGNITION THAT CHEATING WILL LEAD TO COLLAPSE OF COOPERATIVE PRICE

-FEW SELLERS



-PREANNOUNCED PRICE INCREASES

-GOOD INFORMATION ABOUT   COMPETITOR’S PRICES
2.  LOTS TO GAIN

-INELASTIC DEMAND

-ENTRY IS DIFFICULT

-WON’T BE ANTITRUST VIOLATION

ANTITRUST LAW - SHERMAN ACT

ILLEGAL TO 

1.  AGREE WITH COMPETITORS ABOUT PRICE


PER SE ILLEGAL

2.  MONOPOLIZE AN INDUSTRY

SINCE A SELLER CAN MONOPOLIZE AN INDUSTRY BY HAVING A BETTER PRODUCT OR A LOWER PRICE NOT PER SE ILLEGAL - REQUIRES “ABUSE”

MICROSOFT

IS MICROSOFT A “MONOPOLIST”?

(ABILITY TO CONTROL PRICE AND LIMIT ENTRY)

CONTROL OPERATING SYSTEMS ON 90% PCs

BUT CONTROL OPERATING SYSTEMS ON 20% MIPS

COST OF WINDOWS = $20 OF $2000 COMPUTER  1%

BUT P/MC VERY HIGH, PROFIT VERY HIGH 

NO ENTRY, PER MANUFACTURER LICENSES

BUT NO ENTRY ONLY BECAUSE OF LOW PRICE AND HIGH QUALITY

WE NOW HAVE AN UNDERSTANDING OF  THE FACTORS INFLUENCING THE MARKET VALUE OF GOODS AND SERVICES

TURN TO THE PRICES OF THE FACTORS USED IN PRODUCTION

AVERAGE FAMILY INCOME ~$45,000

SOURCES OF INCOME IN THE U.S.

1.  SALE OF LEISURE




74%

2.  RENTAL OF CAPITAL


     13%

3.  SALE OF RESOURCES


 8%

4.  PROFIT
(NET OF LOSSES)


  4%

~85 PERCENT OF “INCOME” COMES FROM PAYMENTS TO THE LABOR FACTOR OF PRODUCTION

TO UNDERSTAND MOST OF THE SOURCE OF INCOME, WE WILL INVESTIGATE THE DETERMINANTS OF THE VALUE OF SELLING LEISURE

LEISURE IS AN ECONOMIC GOOD  -  THE MARKET VALUE OF GOODS IS DETERMINED BY 



SUPPLY  AND  DEMAND

THE DEMAND FOR LABOR

LABOR IS DEMANDED BECAUSE IT PRODUCES VALUABLE PRODUCT

AS MORE LABOR IS USED IN A PARTICULAR PRODUCTION PROCESS, OUTPUT WILL RISE

AT FIRST, INCREASED LABOR INPUTS CAUSE OUTPUT TO TYPICALLY RISE AT AN “INCREASING RATE”    

(INCREASED USE OF SPECIALIZATION – NOTE THAT THIS IS THE ANALOGUE TO THE FALLING PORTION OF MARGINAL COST)

CALLED “INCREASING RETURNS TO SCALE”

HOWEVER EVENTUALLY “DIMINISHING RETURNS” SETS IN

DIMINISHING RETURNS - DOUBLE ALL VARIABLE INPUTS RESULTS IN LESS THAN A DOUBLING OF OUTPUT

YOU INTUITIVELY KNOW THAT DIMINISHING RETURNS IS A FACT OF LIFE BECAUSE OTHERWISE IT WOULD NECESSARILY BE EFFICIENT TO HAVE THE TOTAL AMOUNT OF A GOOD PRODUCED IN THE SMALLER POSSIBLE FACILITY

E.G. – PRODUCE THE WORLD’S SUPPLY OF WHEAT IN A FLOWER POT. 

A REPRESENTATIVE PRODUCTIVE PROCESS
KEITH’S HUSKY T-SHIRT SHOP
# WORKERS
      TOTAL

MARGINAL 
VALUE OF 




    PRODUCT

PRODUCT
MARG PROD
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EMPLOYMENT DECISION 

HIRE ADDITIONAL WORKERS IF 

THE BENEFIT 
    EXCEEDS


 THE COST
THE BENEFIT FROM ADDITIONAL WORKERS
PRICE OF SHIRTS

= 
$15

MATERIALS COST

=
$10

HUSKY LICENSE FEE
=
 $3

-> VALUE OF A MARGINAL PRODUCT=  $2 (=$15-10-3)

COST PER WORKER (WAGE)


=  $5.50

EMPLOYMENT DECISION 

HIRE ADDITIONAL WORKERS IF 

THE BENEFIT (VALUE OF THE MARGINAL PRODUCT)
    EXCEEDS


 THE COST (THE WAGE RATE)

THE DEMAND FOR LABOR IS GIVEN BY THE DECLINING PORTION OF THE VALUE OF THE MARGINAL PRODUCT

THE MARKET WAGE RATE IS DETERMINED BY 

THE DEMAND BY ALL “EMPLOYERS” 

AND 

THE SUPPLY OF LABOR SERVICES

BASIC THEORY OF WAGE DETERMINATION

SUPPLY AND DEMAND

SUPPLY - determined by people’s willingness to give up their leisure

Higher wage - greater willingness to substitute leisure for other goods


BUT

Higher income - greater the demand for leisure

DEMAND - add employees as long as the Value of the Marginal Product exceeds the wage

Parameters
- available capital (can increase or 

          decrease demand)


- output price


- other input prices

VARIANCE IN WAGES ACROSS WORKERS EXPLAINED BY

1.  ABILITY

2.  EDUCATION

3.  EXPERIENCE

4.  EFFORT

5.  LUCK
(CHANGES IN THE DEMAND OR SUPPLY) 

6.  UNIONS

7.  DISCRIMINATION

8.  JOB CHARACTERISTICS

